_ 2l AL O] © OFAMIE
4 12 A= =JIAlIC}l £ ol
2023 l_=| 1 —é 4_|_ T I_I-_I I_I-—U— ‘_1“?'”{?1'!4 . _.:_i-_L[':,:ﬁE|H.;$;g|{IF¢|:};.
7& of 7 10A] ZH4] SN 3A| 244 X
et 71 d /N A= o) bt B a|8f/orx =
HAYE=S 2E(H) A3n7/o0]92 g:*wg'_:'-: orLEZ =
1/23 ey +24 E] ] of Qlei4o| el Aggol
SAZ =T AZEIUE . 883
- Bz At =A% saRBE A2
+94 €| 1] of B 2 70 X| SeE= B 520 X|
2 /Cted A 406kcal/17.9g - o /Tt Al 570kcal/25.1g - o Z/CHel &l 616kcal/29.3g
Yyt Ho|g/2ES o JIe /AR
VEIY=S Ab Zulg o gzold®g=
1/24 HEY +Z3 ¢l EE¥ +2 R 7bXt ol gl 2| of 7] 3 o]
=AY g Q of 4 3 Gy A
2t U Abat EAEY HWapot = E
+E 0l CEXIEY +2 5 4% B & 24 %I
o2k /chuy =l 464keal/20.2g - o ak/CH &l 696keal/29.3g - 4 2F/CHEl Xl 559kcal/27.2¢
oyt FurMs olu} 2oy /ok =
NI |FGYS BfLt Lt HtX| g 0|H = M:l.aii_A:l:: =%
1/25 HEE +5 2&+52y| e 2817
EA2U T T E2 30k F 3 S neddHE
% 22 BELE L} SN2 ASR|A T A2
+¥ Hlj = 2] x| B == B & 21 X|
ek /CHel Xl 407kcal/17.49 - ¥ /CH A 676kcal/25.4g - 2 /CHEl E 684kcal/31.1g
Yyt Solg/eAdS o >2U/RER
HEFYE 2 S B ) LA S M
1/26 AT +E22 z|z1c12]0f7| +S S 4%t Acta oy
EANEY B fAUE G MECIEMRE
= g =2 EANgd et dt =EAgZ
+Ey 9l Hij = Z x| +2 & b &= ZJ x|
/Ty A 413kcal/19.1g - M/ Rl 757keal/28.7g | 2+EAQ | WH/CHUHE! 608keal/31.5g
Yt salgr/or = et 2178 /M 45
MAGYS b LFLE AD7I8FR EANY 2R A
1727 HEE +HI X YA AYB +ory EUZE07I
e Sk Zh o olTuEg
= S22 BhLt L EAMEY HZ Rt Mg
+HI XA i = 24 X| + X} b 2 24 %]
/Tl & 476kcal/17.9¢ - ¥/t &l 676kcal/27.4g - =¥ /Chel &l 607keal/30.5g
Yt TEYMS et Bl /orH =
HNI9YHF Ak 3 gZold®= WX F BI X & 71
1/28 A58 +24 E|H] of A2817| +0l222 chx
EAMEgY = ChedrdE = SXHAARS
E 24X At} =AY X 2t Xt =AY
+24 E| y| o} bl = Z %I -IPNP | bl &= Z x|
ek /Ctul =l 487kcal/17.49 - HAZF/CHI Al 675kcal/25.49 - o ZF/Chel &l 603kcal/17.0g
ot POl /BER ot INFY /A
HEDFLH (M) ol golatE = ot S 3l AXNBZUE2
1729 HEH +EaQl {5l ofL| 0| +OF | 8 & Mo ge
SN T CEERE s sl g ot A
ol 22 EOlE S A At at =AY
+Z3 ¢l bij = 2 X| +2 57 b = 2) X|
o 2 /CHul & 413kcal/19.1g - 2 /CHe Al 591kcal/36.9g - 2 /CHE Al 716kcal/31.1g
T, A D50 | U= Sofx LAt O] NS & ¥ R L x|
o [ HPLESIUL = Ui 4t 2] Alof &t 2 Al ot &t ol =4t H| £ & &t = Uit H| £ & &t
=7| 223 HRlILt acy FHIX| NURERS) = o5 23
A T ES:FUM | 2AorM | diF UL | FER UM = Ui &t == Ul gad
= ot H=Z.ES3) SE EX, 2571, 22U FIREE, QS &5
- EEY UM 2] Al Ot At IEEN T e,
ANESH, RN, 2, X2, 0|X

Iui




